= BARRACUDA

ASSEMBLING INSTRUCTION

-

UNIVERSAL

N-ADATTN

N

WWW.BARRACUDAMOTO.COM

LEGEND

. ADAPTER
ADATTATORE
ADAPTADOR
ADAPTER
ADAPTATEUR

. HEXAGON SOCKET HEAD CAP SCREW M6X25
VITE BRUGOLA A TESTA CILINDRICA M6X25
TORNILLOS DE CABEZA CILINDRICA M6X25
INNENSECHSKANT M6X25
VIS A TETE CYLINDRIQUE A SIX PANS CREUX M6X25

REMOVE THE

FRONT MIRRORS BRACKET

ORIGINAL

A
’

‘_-

©

\/

/)

hrd

<

]

/
f=z?
/

\\\\

|

~

/

&

ol




